Z 05 ((V!j lllfja;l'l 0({( | 0(11¢ Z 4, /0. {/

AL LT T T TASPT TP W R [ [Aocelldoled | | | | ]]] |
7} g,‘ X = r2 +t :4 | Ié’éanj ZUm | Bh'u/lhl" |\ ¥ On v(("h/‘/lrd/!n

-1 1/

'l) a) ; I+< xﬁtﬁ 12, B -12] [ Ubdn) bul Bbdnch fiom| Roude |
| ! |~ 4ulljaél 4 1

Af)ﬁ 5(§14 [4)

I onz i )ofo)o[d)

3) A Q)(4+3x1+3x3-42 = /X +.2’_x,.«1k 47

‘75(61010) . (01410) sy (0]014)
=2 V2‘>u+3x1 =4 | = | . ol %x,_,//
se (31 old) 13, ( 0 1210)  Fll xq-Achse
A i snamEoTE: A

Schovll |ddy | ;kw;,<a:1,n dev Lhind Eund F
(’5'17"' ZW!' pum‘/t, /lt au/ /lr frlrn,ljfra//h
i GIfV F})*IH!VI (/[J,n | |



